حلول أسئلة موضوع الثورة الصناعية
Q :Answer the following questions :
1- What was the Industrial Revolution ?
- It was the transition to new manufacturing processes in the period from about 1760 to sometime between 1820 and 1840.
2- Write one of Industrial Revolution transition methods of production .
- The iron production processes.
3- What were the dominant industry of the Industrial Revolution ?
- They were the textile industries.
4- Where did the Industrial Revolution begin ?
- Industrial Revolution began in United Kingdom.
5- What were the origins of the important technological innovations at the beginning of the Industrial Revolution ?
- The origins were British.

6- What was Britain undergoing, when the Industrial Revolution was occurring ? 
- Britain was undergoing an agricultural revolution.
7- Did the textile produced by the hand spread across Great Britain to Europe in the early nineteenth century ?
- No it didn’t, the Mechanized textile spread across Great Britain to Europe.
